
６年

５ 
(１) 

文字を用いた式（１） 

  年   組 
 
名前 
 

  
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

１ x に当てはまる数を求めましょう。 

 
① x ＋ ３ ＝ ２６ 
 
     x ＝      － 
 
     x ＝ 
 
② x ＋ ６ ＝ ５８ 
 
     x ＝      － 
 
     x ＝ 
 
③ ４ ＋ x ＝ ３６ 
 
     x ＝      － 
 
     x ＝ 
 
④ x ＋ ８ ＝ ５２ 
 
     x ＝      － 
 
     x ＝ 
 
⑤ １６ ＋ x ＝ ４３ 
 
       x ＝       － 
 
       x ＝ 
 
 
 
 
 

 
 
⑥ x ＋ １９ ＝ ３１ 
                    𝑥𝑥 ＝ ３１－１９ 
                    𝑥𝑥 ＝ １２ 
 
 
⑦ １２ ＋ x ＝ ６１ 
                    𝑥𝑥 ＝ ６１－１２ 
                    𝑥𝑥 ＝４９ 
 
 
 
⑧ x ＋ ２１ ＝ ４１ 
                    𝑥𝑥 ＝ ４１－２１ 
                    𝑥𝑥 ＝ ２０ 
 
 
 
⑨ ２４ ＋ x ＝ ５０ 
                     𝑥𝑥 ＝ ５０－２４ 
                     𝑥𝑥 ＝２６ 
  
 
 
⑩ x ＋ ３７ ＝ ６９ 
                     𝑥𝑥 ＝ ６９－３７ 
                     𝑥𝑥 ＝ ３２ 
 
 

２６ ３ 

２３ 

５８ ６ 

５２ 

３６ ４ 

３２ 

５２ ８ 

４４ 

４３ １６ 

２７ 

取り組んだ日   月   日 



６年

５ 
(２) 

文字を用いた式（１） 

  年   組 
 
名前 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 
 
⑥  x － ２７ ＝ １５ 

                 𝑥𝑥 ＝ １５＋２７ 
                 𝑥𝑥 ＝ ４２ 

 
 
 
⑦  x － ６２ ＝ １２ 

                 𝑥𝑥 ＝ １２＋６２ 
                 𝑥𝑥 ＝ ７４ 

 
 
 
⑧  x － ４４ ＝ １００ 

                 𝑥𝑥 ＝ １００＋４４ 
                 𝑥𝑥 ＝ １４４ 

 
 
⑨  x － ３９ ＝ ８４ 

                 𝑥𝑥 ＝ ８４＋３９ 
                 𝑥𝑥 ＝ １２３ 

 
 
 
⑩  x － ７６ ＝ ４７ 

                 𝑥𝑥 ＝ ４７＋７６ 
                 𝑥𝑥 ＝ １２３ 

 
 

１ x に当てはまる数を求めましょう。 

 
①  x － ４ ＝ １２ 

             𝑥𝑥  ＝ １２＋４ 
             𝑥𝑥  ＝ １６ 

 
 
 
②  x － ９ ＝ ２５ 

             𝑥𝑥  ＝ ２５＋９ 
             𝑥𝑥  ＝ ３４ 

 
 
 
③  x － ３ ＝ ３８ 

             𝑥𝑥  ＝ ３８＋３ 
             𝑥𝑥  ＝ ４１ 

 
 
④  x － １９ ＝５ 

                𝑥𝑥  ＝５＋１９ 
                𝑥𝑥  ＝２４ 

 
 
 
⑤  x － １３ ＝８ 

                𝑥𝑥  ＝８＋１３ 
                𝑥𝑥  ＝２１ 

 
 

取り組んだ日   月   日 



６年

５ 
(３) 

文字を用いた式（１） 

  年   組 
 
名前 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

１ x に当てはまる数を求めましょう。 

 
① x × ４ ＝ １２ 
                 𝑥𝑥 ＝ １２÷４ 
                 𝑥𝑥 ＝ ３ 
 
 
 
② ８ × x ＝３ 
                𝑥𝑥 ＝３÷８ 

           𝑥𝑥 ＝ ３
８

 

 
 
③  x × ５ ＝ ２ 

             𝑥𝑥 ＝ ２÷５ 

             𝑥𝑥 ＝  ２
５
（0.4） 

 
 
④ ３ × x ＝ １０ 

           𝑥𝑥 ＝ １０÷３ 

           𝑥𝑥 ＝  １０

３
 

 
 
⑤  x × ２１ ＝ １０ 

                 𝑥𝑥 ＝ １０÷２１ 

                 𝑥𝑥 ＝ １０

２１
 

 
 

 
⑥  ５９ × x ＝ １７ 
                       𝑥𝑥 ＝ １７÷５９ 

                      𝑥𝑥  ＝  １７

５９
 

 
 
⑦  x × １９ ＝ １４ 
                       𝑥𝑥 ＝ １４÷１９ 

                       𝑥𝑥 ＝  １４

１９
 

 
 
⑧ ０．１ × x ＝ ５ 
                         𝑥𝑥 ＝ ５÷０．１ 
                         𝑥𝑥 ＝ ５０ 
 
 
⑨ １．５ × x ＝ １２ 
                         𝑥𝑥 ＝ １２÷１．５ 
                         𝑥𝑥 ＝ ８ 
 
 

⑩ 
１

２
 × x ＝ ５ 

                 𝑥𝑥 ＝ ５÷
１

２
 

                 𝑥𝑥 ＝ ５×２

１×１
 

                 𝑥𝑥 ＝ １０ 
 
 
 
 
 

Ａ÷Ｂ＝
Ａ

Ｂ
 

取り組んだ日   月   日 
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